Evaluate the possible problems for the UK economy of increased government borrowing

Argue you it this way: -> bad things about government borrowing -> evaluate with the good things it can cause (though may not). It’s fine to argue it the other way also.

Points:
· Increased government borrowing could lead to financial crowding out: increased government borrowing could lead to increased demand for loans, increased demand for money would lead to an increase of the price of money i.e. interest rates would increase. This then may disencourage investment, and reduce consumer spending (as mortgage repayments are more expensive), therefore AD would shift to the left and growth would fall as will unemployment. However, if the government spends the increased amount of money on public expenditure then this could offset the reduction in AD and may further lead to more benefits if spent on supply side policies. 
· Worsening of the economy for future generations – higher borrowing usually is lead with more interest rates, this means a higher repayment on the loan. Therefore, future generations will have public expenditure reduced as a portion of government revenue will have to be repaid to the debt. However, the UK is a sound economy, and as such, lenders are likely to trust the repayment ability of the UK. Therefore, the interest of the loans may not be that high – as such the future generations may not have to repay that much and may not be that affected. 
· May reduce FDI – if the UK government borrows more, then foreign investors may be less confident of the UK economy and therefore may invest less in it. However, this is unlikely as most economies do a lot of borrowing and the UK is known to repay and still be reliable, despite if they borrow more. Also, FDI is not a significant factor as it makes up such a small proportion of GDP.
· Similarly for FDI, it may reduce the value of sterling. As speculators may be less confident of the UK government and sell sterling. However, this could be a good thing, as exporters would then be better off as exports are cheaper, then this could improve the current account on the balance of payments.
